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<" [ive questions, taking one from each Unut

UNIT—I

“vplain the uses and limitations of
//acroeconomics. 3+3=6

“xplain briefly the relationship between
national income and welfare. 4

;‘JJhat 18 national income? What is the
‘mportance of estimati
stimatin 1ati
income? . e
2+3=5
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(b) How far is the Ca{nbndge cash ba}%gn
approach  superior to the

transaction approach? |

UNIT—III

5. Explain the ‘role of effective demangq .
Keynes theory of employment, :

y  Discuss, M macr Oeconomics
~oL APy ¢ '
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na and main

the assumptio

of investment multiplier. 5

w&irmtmn? Mention three
2*3*5

ne of acceleration pnnc
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